

AIMS Biophysics, 8(2): 182–197. DOI: 10.3934/biophy.2021014 Received: 03 March 2021 Accepted: 20 April 2021 Published: 22 April 2021

http://www.aimspress.com/journal/biophysics/

Research article

Dynamical analysis of fractional-order chemostat model

Nor Afiqah Mohd Aris¹ and Siti Suhana Jamaian^{1,*}

- ¹ Department of Mathematics and Statistics, Faculty of Applied Sciences and Technology, Universiti Tun Hussein Onn Malaysia, Pagoh Education Hub, 84600 Pagoh, Johor, Malaysia
- * Correspondence: suhana@uthm.edu.my; Tel: +60197970079.

Appendix

Algorithm of Adams-type Predictor Corrector Method:

$$\begin{split} h &:= \frac{T}{N} \\ m &:= \lceil \alpha \rceil \\ \\ \text{for } k = 1 \text{ to } N \text{ do begin} \\ b_k &:= k^{\alpha} - (k-1)^{\alpha} \\ a_k &:= (k+1)^{\alpha+1} - 2k^{\alpha+1} + (k-1)^{\alpha+1} \\ \text{end} \\ \\ JJ[0] &:= JJ_0[0] \\ \text{for } j = 1 \text{ to } N \text{ do begin} \\ pJ &:= \sum_{k=0}^{n-1} \frac{(jh)^k}{k!} JJ_0(k) + \frac{h^{\alpha}}{\Gamma(\alpha+1)} \sum_{k=0}^{j-1} b(j-k) fJ(kh, JJ(k)) \\ JJ(k) &:= \sum_{k=0}^{n-1} \frac{(jh)^k}{k!} JJ_0(k) + \frac{h^{\alpha}}{\Gamma(\alpha+2)} \Big[\Big[((j-1)^{\alpha+1} - (j-1-\alpha)j^{\alpha} \Big) fJ(0, JJ(0)) \Big] \\ &\quad + \frac{h^{\alpha}}{\Gamma(\alpha+2)} \Big[fJ(jh, pJ) + \sum_{k=1}^{j-1} \alpha(j-k) fJ(kh, JJ(k)) \Big] \\ \text{end} \end{split}$$

Proof of Proposition 1: The two roots of the characteristic polynomial are expressed as,

$$\lambda_{\pm} = -\frac{-b \pm \sqrt{b^2 - 4c}}{2}.$$

Equation (2.4) is equivalent to the Routh-Hurwitz case if both roots are real or complex conjugate with negative real parts. Otherwise, the roots become

$$\lambda_{\pm} = -\frac{-b \pm i \sqrt{4c - b^2}}{2},$$

and get Equation (2.6) if both roots are complex conjugate with positive real parts. The mathematical explanation of Routh-Hurwitz condition: By substituting values from Table 1, the eigenvalues can be obtained as

$$P(\lambda) = \lambda^2 + b\lambda + c,$$

$$P(\lambda) = \lambda^2 + \frac{2552}{199875}\lambda + \frac{49}{18750},$$

$$b = \frac{2552}{199875} > 0, \qquad c = \frac{49}{18750} > 0.$$

This show that the condition in Eq. (2.5) is satisfied which is b > 0 and c > 0.



© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)